1 ITe

AN (17 8)

i< LIRFVE

vy 5 -5ARASC

H2000

& 2520 (B

KFTHO1945

.=

/:

el

RN

O#FEN (1/8)

800

0550

HIN (1720

AEE0E
) BROARIISETRHTT,

NERFER (1710

2320
52 1103 10 1103 52
2 S Q )
_ | ‘(/ AY 1 _
° 1 __g<
a - (G —
[ ] o ° C) C)
. : & S
M (1
il Ay \ f/ \ T
b &L W b A
(@)
,//// N C)// Yl s

o

BB (1710

HE iRV B B (mm) it g i z

1 [l 0100x50%xt3.2 STKR400 HENKZE (Pa@imd- &)
2 FAli%ey 7 t1.6 SGH ENEZE (TERD- X)
3 FEME (RAD 50x120 ABO63S BRBILEAKE

4 PR (GRAD 50x 120 AB063S BRBLEAKE

5 FEME (24D 50x120 AB063S BRBILEAKE

6 MEER 25%x 60 AB063S BRBILELKE

7 HML AW 0.5 SGC ENEZE (TERD- X)
8 fEwn - 12 A1100P 2%

9 Rivy 7 ¢ 16/ F40Y -

10 vy s§-3t ASCy U -% - J- 8

11 SR TL - b t2 ATYUA -

12 SERFTL - b t2 ATYUA -

13 1201 060x30xt2.3 STKR400 HENKZE (Pa@Hd- &)
14 R TL- b t2 ATYLA -

15 kYR t6 SPHC HENKEE (PH@EHD- &)
16 kyy t6 SPHC HENKZE (Pa@md- &)
17 [PIN 12 SGD BRIE - &

18 EIYYKABE t13.5 SPHC HENKZE (Pa@Hd- &)
19 gy 4x20 ATYLA -

20 Eg 12 X -

21 EUERE 12.3. t3.2 SGH HENKZE (Pa@md- &)
22 EiR t2 ATYUA -

23 SEUBKL S - t1.5 ATYUA -

24 FLE $12 ATYLA -

25 ZED) t1.5 A6063S. EPDM -

26 R b M10x 125 4.618% BRldHn o &

27 " M10x 85 4.618% BRIEHD - &

28 ¥Ry M5x 10 ATYUA -

29 0 M4x 10 ATYLA -

30 b AR M8x 45 ATYUA -

31 " M5x 10 ATYUA -

32 " M4x 10 ATYUA -

33 SUNLT $16 PVC -

34 F7A by /8 = H52 BEPRSAN2A L -

) BRMRISROLS. FELEBTHILNHVET,

BIER: vy 5-5I3. BFRERVET,
YUy F-5 (- V8 ASCy ) -X#ZBAEITL,
(Ny 5ty b 64mm. EES0mm)
TROBAE. HRTI -V VY F-%IBAIE N,



